3— (1) ZBRLREDFTHEDREELL

(ppm)
SAETETHT £ BIER Fakth iz TRL164 TERR175 TRE184 TER19% PRL204E

Al FFT TP ER 53 0.005 0.006 0.004 0.004 0.004
hiETH L EIRE B R EIERT £ 0.003 0.003 0.003 0.003 0.003
HHEH FEEIRES 1F 0.003 0.004 0.002 0.002 0.002
EEIRES £ 0.003 0.006 0.005 0.004 0.003

(=l i=lL x 0.004 — 0.003 0.004 0.003
J\IBINERL *x 0.004 — 0.004 0.004 0.004

¥ ¥ [i] 0.005 0.006 0.005 0.005 0.004
EART&A &3 0.003 0.004 0.004 0.005 0.004

EART BILINER £ 0.004 0.004 0.004 0.004 0.004
EXfE/NVERE (5 0.004 0.003 0.003 0.004 0.004

B HET fEIR 53 0.004 0.004 0.003 0.005 0.005

3—(2)—HILERDFEFEHEDEFEEIL
(ppm)
SRAE TR 4 BIER ik hiz TR164 ER1745 TRE184 TER194 TRL204

A FFH T E £ 0.003 0.004 0.003 0.003 0.004
HiEh b BRI LS R B S (£ 0.004 0.005 0.003 0.002 0.003
B HETH 75 & i B /5 £ 0.005 0.005 0.005 0.004 0.005
e FEIRELS £ 0.003 0.002 0.003 0.003 0.003
J\BB IR x 0.004 — 0.004 0.003 0.003

EI¥Fmh EI¥F M &) 0.003 0.003 0.003 0.003 0.003
FEAR TR £ 0.006 0.006 0.010 0.010 0.005

EARM FiLINERR £ 0.007 0.006 0.008 0.006 0.007
ER BN (£ 0.007 0.008 0.011 0.007 0.009

B L ET fERE & 0.008 0.008 0.008 0.005 0.005




3— () HREERDFIIENDEFE

(ppm)
SRERBTH £ BIE R F& his FRi16%5 TER174 Fi18% T 194 T 204

Al FF I hEEg £ 0.012 0.011 0.011 0.009 0.005
thigm L BRIk B 5 h iR B A5 (£ 0.013 0.013 0.007 0.008 0.008
BHHEM o ER IR L £ 0.009 0.008 0.008 0.008 0.007
e RS * 0.010 0.011 0.010 0.009 0.008
J\IBINERR PS 0.009 — 0.010 0.010 0.008

FI¥Fmh FA¥Fm T ] 0.011 0.011 0.009 0.008 0.008
EART&AT £ 0.014 0.013 0.014 0.013 0.012

EART FiL/NER * 0.012 0.012 0.013 0.012 0.010
B E/NERR £ 0.013 0.013 0.013 0.012 0.011

Bt ET [ERE (£ 0.014 0.014 0.015 0.011 0.012

3—(4) “EILERDEMO8WNIENIFEFLEIL
(ppm)
SRE TR 4 BIE R FH& Hhis TER164 TRR174 TRL184 TRE194 TER204

Al FF B * 0.025 0.030 0.027 0.019 0.010
thiEmh L ER IR 5 iR B ISR £ 0.024 0.026 0.016 0.018 0.016
HHEM PR iR B E3 0.018 0.018 0.018 0.017 0.014
Py AR iR L * 0.018 0.021 0.019 0.018 0.016
I\ INERR PS 0.020 — 0.022 0.020 0.020

EI¥Fmh EI¥Fm i Ar 5] 0.019 0.021 0.018 0.017 0.016
EARTIRAT £ 0.026 0.026 0.026 0.026 0.025

EAR™ FIiLINERR £ 0.027 0.030 0.028 0.028 0.024
B EINERR =* 0.027 0.026 0.030 0.025 0.026

B i Er [ERE £ 0.030 0.033 0.031 0.026 0.026




3—(B)FBAFRMEDEFIENREE

(mg/m°)
SRETETH 4 BIER FH & higi TR164 PRR175 TRL184 FRL194 FER204

Al FFH &L R £ 0.018 0.021 0.020 0.022 0.025
thiETh AR E S R EIERT IE3 0.025 0.029 0.027 0.028 0.024
HHET P iIRELS £ 0.017 0.018 0.026 0.027 0.023
E1am FE iR E S F 0.023 0.023 0.021 0.021 0.016
J\IB /N x 0.024 — 0.029 0.026 0.026

EI#fmh ¥ en 5] 0.021 0.023 0.021 0.020 0.013
EARTIRAT { 0.023 0.024 0.023 0.023 0.019

EAR™ FIiLINVER £ 0.025 0.026 0.024 0.020 0.015
B E/INERR {E3 0.023 0.025 0.024 0.023 0.017

H T [ERE & 0.023 0.030 0.021 0.023 0.020




3—(B)RAEZAFLF UMD REREEDEFEHEDCEELL

BRI A RER FA&#hig Fri16% Frk1745 Fri18% FRL19% $ﬁ£2(<)p;m)
Al fF FLhER £ 0.034 0.031 0.026 0.031 0.029
HiET L ERE S B2 B FFRT * 0.027 0.025 0.019 0.022 0.022
HHEM FERIRE S * 0.020 0.025 0.032 0.036 0.027
A=k FERIRES * 0.027 0.027 0.023 0.032 0.024
FI#Fmh FI#F &R 5] 0.027 0.028 0.025 0.028 0.026
EART EARTRAR * 0.030 0.032 0.032 0.034 0.033
B HET [ElE * 0.026 0.027 0.033 0.035 0.032

3— (N HAEFAFFZ LD RED 1RREEA0120pmZT B A -AHDREFEIL

RETRTA A RER FRik thig Fri1645 FRE17E Fri184 TR 195 ﬂzmzép;m)
BIRFTH FH 2R * 0 0 0 0 0
diE L ER IR S iR BT x 0 0 0 0 0
HHET IR * 0 0 0 0 0
&R R IR * 0 0 0 0 0
FA#Fh FI#Fh&FT ] 0 0 0 0 0
EART EARTEAR * 0 0 0 1 0
=Faal:i) EE * 0 0 0 0 0




